LEICESTERSHIRE COUNTY COUNCIL

FREQUENTLY ASKED QUESTIONS ABOUT THE PROPOSED
PASSENGER TRANSPORT POLICY AND STRATEGY

GENERAL QUESTIONS

1) What is the statutory duty on Leicestershire County Council to provide Public
Transport?

The operation of local bus services in Leicestershire is the responsibility of
commercial/private bus operators. This has been the case since local bus service operation
was opened to the commercial market by the Transport Act 1985 making bus service
operation a profit-driven business.

Whilst the provision of public transport is not a public service, Section 63(1)(a) of the
Transport Act 1985 explains that local authorities must “secure the provision of such public
passenger transport services as the council considers it appropriate to secure to meet any
public transport requirements within the county which would not in their view be met apart
from any action taken by them for that purpose”.

However, when deciding what is ‘appropriate’ the council is within its rights under the act to
take into account the funds that are available. This means that there isn’t a specific
requirement that the council must subsidise bus services.

2) Is this new Public Transport Policy and Strategy just about saving money?

No, the PTPS sets out how the county council would go about meeting its statutory duties
and deliver value for money passenger transport services for Leicestershire. The PTPS will
ensure fit for purpose passenger transport solutions are provided that best meet essential
need and fulfil statutory requirements. It aims to make the best use of the council’s limited
funding resource for socially necessary passenger transport provision.

3) Will LCC be looking at reducing fully subsidised bus services?

The policy and strategy is aimed at providing fit-for-purpose and cost effective solutions that
best meet the essential needs of residents. A reduction in subsidy is one of a number of
potential solutions that maybe considered following assessment under the policy and
strategy.

4) If alocal bus service is withdrawn from an area does this mean that there will
be no passenger transport provision for that area at all?

No, not necessarily; where a service is withdrawn or where some transport needs cannot be
met by the commercial market or by community transport services, the council has to
consider whether it should intervene with some form of alternative provision in line with its
statutory duty.

The council would therefore assess the case for need and support as detailed in the policy
and strategy and decide what is appropriate to provide. In deciding what is appropriate the
council would aim to ensure good use of the limited resources available by providing fit for



purpose solutions that best meet the essential needs of Leicestershire’s residents. The
alternative, if considered necessary, might not be the provision of a bus.

5) Would operators be required to provide solutions for subsidised services
being removed?

There is no legal requirement for bus operators to do so. However, we would want to work
with operators with a view to understanding what alternative solutions operators could
provide, if any.

6) Why are some services contracted together and others contracted
individually?

In the case where 2 services are listed together this reflects that the services were tendered
as a package of work and operationally interworked to get the most efficient use of the
resources and to ensure the very best contract price was achieved for the council. Whilst
together the services offer the best value possible, splitting the services and contracting
them individually would create inefficiencies and subsequently an increase in price.
Removing one of the services and continuing with the other would result in a considerable
increase in the cost of the remaining service as it would still require a vehicle and driver for
the whole day but would have more standing time in the likely case that the bus had no other
work to be interworked with.

In cases where the same service appears as 2 or more separate contracts, this reflects that
different parts of the service have been contracted separately with the operator. For
example, the 154 Saturday service supports the whole operation for this service on a
Saturday whereas the Monday to Friday service reflects one late journey which the operator
would not operate commercially and the Council decided to support according to the
Council’s current policy. These types of arrangement are often what are called ‘de minimis’
agreements whereby the bus company operates the majority of the contract on a
commercial basis and the council buys in additional journeys where it deems them
necessary.

7) What are neighbouring authorities doing with respect to public transport
provision?

Many local authorities across the country either have in place or are developing a scheme
for prioritising how they should use their limited resources for subsidising bus services that
are not commercially viable, whereas, some authorities have removed all support for local
bus services. As examples:

a) In Nottinghamshire, the County Council uses a multi-criteria scoring scheme that has
some similarities with the proposed Leicestershire scoring scheme. This looks at six
indicators rather than our proposed three — these are:

i.  subsidy per passenger trip
ii.  number of passengers per journey

iii. journey purpose



iv.  car ownership levels in the communities which the service serves

v. availability of alternative public transport provision in the communities which
the service serves, and

vi.  index of multiple deprivation levels in the communities which the service
serves.

b) In February of this year (2018) Northamptonshire County Council agreed its budget
proposals, which include removing all bus subsidies, including CountyConnect and
CallConnect, from the end of the school term in July 2018.

8) For areas where there is a growth plan that includes thousands of houses
being built, won’t this new policy & strategy already be outdated due to the
new format and transport needs of certain areas?

The new strategy sets out how we will look to engage in the planning system to seek to
ensure that appropriate and proper consideration is given to how new developments might
be accessed by commercially viable, long term passenger transport.

9) Has Section 106 monetary contributions be taken in to consideration?

S106 agreements are continually reviewed. Any funding for Passenger Transport secured as
part of a S106 needs to be justifiable under planning law/regulations and secure the long
term viability of the service or provision.

QUESTIONS ABOUT THE SCORING MECHANISMS FOR ASSESSING THE
CASE FOR SUPPORTING LOCAL BUS SERVICES

10) Why have food shopping, primary healthcare, and employment & training been
identified as the highest priority journey purposes?

Food shopping and primary healthcare journeys are seen as supporting the basic essentials
for people to live and are in line with Leicestershire County Council’s ‘Wellbeing and
Opportunity’ target outcome set out in the council’s new Strategic Plan. Access to
employment and training is seen as a high priority as it contributes towards the council’s
target outcome of a ‘Strong Economy’.

11) Why have you used ‘cost per passenger kilometre’ as an indicator?

Subsidy cost per person-trip is often used by local authorities as a key measure of value for
money when considering bus subsidies. While useful, this ignores the fact that some trips
are longer than others. Our chosen indicator is a variant which acknowledges that, for
example, subsidising a route by £2 per trip where an average trip is 10km long provides
better value than subsidising a route by £2 per trip where an average trip is only 1km long.

12) Why have you used ‘number of Leicestershire residents within the bus
service’s catchment area’ as an indicator?

This indicator reflects the value to a local community of having the option to use bus travel
when needed. It looks at the number of people who would have no access to any regular
bus service linking them to a local centre and who would be too far from a local centre to



walk. Within this indicator, greater weighting is also given to serving communities that suffer
from employment deprivation, in line with the council’s ‘Wellbeing and Opportunity’ and
‘Strong Economy’ target outcomes within its overall Strategic Plan.

13) Why have you used 800m as the distance for assessing whether people have
access to another bus service or directly to a local centre?

800m has been adopted as the maximum distance people could reasonably be expected to
walk to catch a bus or to walk straight to a local centre. This is in line with industry guidance.
For example, the Chartered Institution of Highways & Transportation Guidelines for
Providing for Journeys on Foot (2000) suggests that outside town centres, 800m is an
‘acceptable’ walking distance and 1200m is a ‘preferred maximum’. People with mobility
difficulties, for whom these distances may not be possible, may be catered for by door-to-
door community transport services, which Leicestershire County Council will continue to
support.

14) Why have you used ‘journey purposes served’ as an indicator?

This indicator helps ensure that services that can support the journey purposes that have
been identified as high priority (food shopping, primary healthcare, and employment and
training) score more highly, as do services that support multiple journey purposes.

15) How is each scoring indicator calculated — what data is used?
a) Net subsidy cost per passenger-km

The calculation of the net subsidy cost per passenger-km involves comparing the overall net
cost of supporting a bus service with the actual or forecast usage. This is done in three
stages:

i.  The starting point for the net subsidy cost is the cost of the contract the County
Council has with the bus operator to operate the service. Depending on the form
of contract, this is adjusted by:

e Deduction of the amount of fare revenue (if any) coming back to the Council
from the operator;

¢ Addition of the cost to the Council of any additional money reimbursed to the
operator for carrying concessionary passholders for free; and

o Deduction of the cost of any school service that would need to be put in place
to carry statutorily-entitled pupils if the bus service wasn’t operating.

i. Passenger-km travelled is calculated from the number of trips carried on the
service multiplied by the average passenger trip length on the service. Numbers
of trips are logged on the bus through the ticket machine every time someone
boards, and are reported back to the Council by bus operators on a regular basis.
Average trip length is determined using either data from on-bus surveys or from a
default assumption that the average trip length is half the service route length
(this is an assumption that is commonly used in estimating average trip length for



reimbursing operators for carrying concessionary passengers, based on
guidance from the Government Department for Transport).

iii.  Net subsidy cost per passenger-km is then the result of a) divided by the result
from b).

b) Number of Leicestershire residents within the bus service’s catchment area
who don’t have access to another direct service to alocal centre by other
means (e.g. a commercial bus or train service stopping within 800m of their
home), and who aren’t within reasonable walking distance (800m) of a local
centre

This indicator is determined using a computerised geographic information system (GIS)
analysis on a map base from Ordnance Survey.

First, a radius of 800m is drawn on a map layer around each bus stop location used by the
service under consideration. This is overlaid by a 2nd map layer that shows the geographic
location of where people live in Leicestershire — this information is drawn from the national
census that takes place every 10 years. This enables the number of people living within the
bus service’s catchment area to be calculated. This number is then adjusted by effectively
overlaying two more layers:

i. A 3rd map layer is overlaid that shows areas of employment deprivation as
defined by the Government'’s ‘indices of deprivation’ data . Any people within the
catchment area who also live in one of the 30% most employment-deprived areas
of England an area of employment deprivation are counted double for this
indicator. This reflects the emphasis on economic development and wellbeing in
the County Council’s new Strategic Plan.

ii. A 4th map layer is then created that shows the 800m radius catchment areas of
any commercial bus service that operates near the subsidised service in question
and an 800m radius area from any local centres that the subsidised bus service
in question serves. The population within any overlap between these and the
catchment area for the bus service in question is deducted from the total as they
are seen to have alternative travel options for reaching a local centre using a
commercial bus service or walking.

c) Journey purposes served.

The information for journey purposes served is drawn preferably from short surveys of users
of the subsidised bus service in question. If that is not possible for some reason, discussions
will take place with the bus operator whose drivers often get to know what passengers use
the bus for at different times of day.

16) With regards to routes that go through the assessment and come back as red
(i.e. have a weak case), will they be pulled or will wider implications also be
considered?

Any decision on the future of services would also consider the wider implications on the
overall passenger transport provision in the local area.
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